

### ALACHUA COUNTY Budget and Fiscal Services Procurement

Theodore "TJ" White, Jr. CPPB Procurement Manager

Thomas J. Rouse Contracts Supervisor

Darryl R. Kight, CPPB Procurement Supervisor

July 24, 2023

### MEMORANDUM

**TO:** Theodore "TJ" White, Jr. CPPB, Procurement Manager

VIA: Darryl R. Kight, CPPB, Procurement Supervisor

**FROM:** Mandy Mullins, Procurement Agent I *WWW* 

SUBJECT: INTENT TO AWARD

ITB 24-19-MM Annual Drugs and Medications

Solicitation Opening Date: 2:00 PM, Wednesday, May 31, 2023, 2023

Solicitation Notifications View Count:
Solicitations Downloaded by:
Solicitations Submissions:
331 Vendors
10 Vendors
3 Vendors

Firms:

Bound Tree Medical, LLC Henry Schein, Inc. Life-Assist, Inc.

Dublin, OH 43016 Melville, NY 11747 Rancho Cordova, CA 95742

### **RECOMMENDATION:**

The above solicitation be awarded to Bound Tree Medical, LLC, Henry Schein, Inc., and Life-Assist, Inc., as the most responsible and responsive bidders meeting specifications.

The actual bid award is subject to the appropriate signature authority identified in the Procurement Code.

Jul 27, 2023

Approved Date Disapproved

Theodore "TJ" White, Jr. CPPB

Theodore "TJ" White, Jr. CPPB

Procurement Manager Procurement Manager

MM

#### **Vendor Complaints or Grievances; Right to Protest**

Unless otherwise governed by state or Federal law, this part shall govern the protest and appeal of Procurement decisions by the County. As used in Part A of Article 9 of the Procurement Code, the term "Bidder" includes anyone that submits a response to an invitation to bid or one who makes an offer in response to a solicitation (e.g., ITB, RFP, ITN), and is not limited solely to one that submits a bid in response to an Invitation to Bid (ITB).

- (1) Notice of Solicitations and Awards. The County shall provide notice of all solicitations and awards by electronic posting in accordance with the procedures and Florida law.
- (2) Solicitation Protest. Any prospective Bidder may file a solicitation protest concerning a solicitation.
  - (a) Basis of the Solicitation Protest: The alleged basis for a solicitation protest shall be limited to the following:
    - i. The terms, conditions or specifications of the solicitation are in violation of, or are inconsistent with this Code, Florida Statutes, County procedures and policies, or the terms of the solicitation at issue, including but not limited to the method of evaluating, ranking or awarding of the solicitation, reserving rights of further negotiations, or modifying or amending any resulting contract; or
    - ii. The solicitation instructions are unclear or contradictory.
  - (b) Timing and Content of the Solicitation Protest: The solicitation protest must be in writing and must be received by the Procurement Manager, <a href="mailto:twhite@alachuacounty.us">twhite@alachuacounty.us</a> by no later than the solicitation's question submission deadline. Failure to timely file a solicitation protest shall constitute a total and complete waiver of the Bidder's right to protest or appeal any solicitation defects, and shall bar the Bidder from subsequently raising such solicitation defects in any subsequent Award Protest, if any, or any other administrative or legal proceeding. In the event a solicitation protest is timely filed, the protesting party shall be deemed to have waived any and all solicitation defects that were not timely alleged in the protesting party's solicitation protest, and the protesting party shall be forever barred from subsequently raising or appealing said solicitation defects in a subsequent award protest, if any, or any other administrative or legal proceeding. The solicitation protest must include, at a minimum, the following information:
    - i. The name, address, e-mail and telephone number of the protesting party;
    - ii. The solicitation number and title;
    - iii. Information sufficient to establish that the protesting party has legal standing to file the solicitation Protest because:
      - 1. It has a substantial interest in and is aggrieved in connection with the solicitation; and
      - That the protesting party is responsive, in accordance with the criteria set forth in the solicitation, unless the basis for the Solicitation Protest alleges that the criteria set forth in the solicitation is defective, in which case the protesting party must demonstrate that it is responsible in accordance with the criteria that the protesting party alleges should be used;
      - iv. A detailed statement of the basis for the protest.
      - v. References to section of the Code, Florida Statutes, County policies or procedure or solicitation term that the protesting party alleges have been violated by the County or that entitles the protesting party to the relief requested;
      - vi. All supporting evidence or documents that substantiate the protesting party's alleged basis for the protest; and
      - vii. The form of the relief requested.
  - (c) Review and Determination of Protest: If the Solicitation Protest is not timely, the Procurement Manager shall notify the protesting party that the Solicitation Protest is untimely and, therefore, rejected. The Procurement Manager shall consider all timely Solicitation Protests and may conduct any inquiry that the Procurement Manager deems necessary to make a determination regarding a protest. The Procurement Manager shall issue

- a written determination granting or denying the protest. The written determination shall contain a concise statement of the basis for the determination.
- (d) Appeal: If the protesting party is not satisfied with the Procurement Manager's determination, the protesting party may appeal the determination to the County Manager by filing a written appeal, which sets forth the basis upon which the appeal is based, including all supporting documentation. The scope of the appeal shall be limited to the basis alleged in the Solicitation Protest. The appeal must be filed with the Procurement Manager within five business days of the date on which the Procurement Manager's written determination was sent to the protesting party. Failure to timely file an appeal shall constitute a waiver of the protesting party's rights to an appeal of the Procurement Manager's determination, and the protesting party shall be forever barred from subsequently raising or appealing said Solicitation defects in a subsequent award protest, if any, or any other administrative or legal proceeding. After considering the appeal, the County Manager must determine whether the solicitation should stand, be revised, or be cancelled, and issue a written determination and provide copies of the determination to the protesting party. The determination of the County Manager shall be final and not subject to further appeal under this code.
- (3) Award Protest. Any Bidder who is not the intended awardee and who claims to be the rightful awardee may file an award protest. However, an award protest is not valid and shall be rejected for lack of standing if it does not demonstrate that the protesting party would be awarded the Solicitation if its protest is upheld.
  - (a) Basis of the Award Protest: The alleged basis for an Award Protest shall be limited to the following:
    - i. The protesting party was incorrectly deemed non-responsive due to an incorrect assessment of fact or law;
    - ii. The County failed to substantively follow the procedures or requirements specified in the solicitation documents, except for minor irregularities that were waived by the County in accordance with this Code, which resulted in a competitive disadvantage to the protesting party; and
    - iii. The County made a mathematical error in evaluating the responses to the solicitation, resulting in an incorrect score and not protesting party not being selected for award.
  - (b) Timing and Content of the Award Protest: The Award Protest must be in writing and must be received by the Procurement Manager, <a href="mailto:twhite@alachuacounty.us">twhite@alachuacounty.us</a> by no later than 3:00 PM on the third business day after the County's proposed Award decision was posted by the County. Failure to timely file an Award Protest shall constitute a total and complete waiver of the Bidder's right to protest or appeal the County's proposed Award decision in any administrative or legal proceeding. In the event an Award Protest is timely filed, the protesting party shall be deemed to have waived any and all proposed Award defects that were not timely alleged in the protesting party's Award Protest, and the protesting party shall be forever barred from subsequently raising or appealing said Award defects in any administrative or legal proceeding. The Award Protest must include, at a minimum, the following information:
    - i. The name, address, e-mail and telephone number of the protesting party;
    - ii. The Solicitation number and title;
    - iii. Information sufficient to establish that the protesting party's response was responsive to the Solicitation;
    - iv. Information sufficient to establish that the protesting party has legal standing to file the Solicitation Protest because:
      - The protesting party submitted a response to the Solicitation or other basis for establishing legal standing;
      - The protesting party has a substantial interest in and is aggrieved in connection with the proposed Award decision; and
      - 3. The protesting party, and not any other bidder, should be awarded the Solicitation if the protesting party's Award Protest is upheld.
    - v. A detailed statement of the basis for the protest;

- vi. References to section of the Code, Florida Statutes, County policies or procedure or solicitation term that the protesting party alleges have been violated by the County or that entitles the protesting party to the relief requested;
- vii. All supporting evidence or documents that substantiate the protesting party's alleged basis for the protest; and
- viii. The form of the relief requested.
- (c) Review and Determination of Protest: If the Award Protest is not timely, the Procurement Manager shall notify the protesting party that the Award Protests is untimely and, therefore, rejected. The Procurement Manager shall consider all timely Award Protests and may conduct any inquiry that the county Procurement Manager deems necessary to resolve the protest by mutual agreement or to make a determination regarding the protests. The Procurement Manager shall issue a written determination granting or denying each protest. The written determination shall contain a concise statement of the basis for the determination.

#### (d) Appeal:

- i. If the protesting party is not satisfied with the Procurement Manager's determination, the protesting party may appeal the determination to the County Manager by filing a written appeal, which sets forth the basis upon which the appeal is based. The scope of the appeal shall be limited to the basis alleged in the award protest. The appeal must be filed with the Procurement Manager within five business days of the date on which the Procurement Manager's written determination was mailed to the protesting party. Failure to timely file an appeal shall constitute a waiver of the protesting party's rights to an appeal of the Procurement Manager's determination, and the protesting party shall be forever barred from subsequently raising or appealing said award defects in any administrative or legal proceeding.
- ii. After reviewing the appeal, the County Manager will issue a written final determination and provide copies of the determination to the protesting party. Prior to issuing a final determination, the County Manager, in his or her discretion, may direct a hearing officer, or magistrate, to conduct an administrative hearing in connection with the protest and issue findings and recommendations to the County Manager. Prior to a hearing, if held, the Procurement Manager must file with the hearing officer the protest, any background information, and his or her written determination. The protesting party and the County shall equally share the cost of conducting any hearing, including the services of the hearing officer. If applicable, the County Manager may wait to issue a written final determination until after receipt of the findings and recommendations of the hearing officer. The determination of the County Manager shall be final and not subject to further appeal under this code.
- (4) Burden of Proof: Unless otherwise provide by Florida law, the burden of proof shall rest with the protesting party.
- (5) Stay of Procurements during Protests. In the event of a timely protest, the County shall not proceed further with the solicitation or with the award of the contract until the Procurement Manager, after consultation with the head of the using department, makes a written determination that the award of the solicitation without delay is:
  - (a) Necessary to avoid an immediate and serious danger to the public health, safety, or welfare;
  - (b) Necessary to avoid or substantial reduce significant damage to County property;
  - (c) Necessary to avoid or substantially reduce interruption of essential County Services; or;
  - (d) Otherwise in the best interest of the public.





### Alachua County Fire Rescue

Harold Theus, Chief

Date: 07/12/2023

#### **MEMORANDUM**

Date: July 12, 2023

To: Theodore "TJ" White, Jr. CPPB, Procurement Manager

From: Cheryl Ellis, Assistant Director of Administration and Finance Charyl Ellis

Subject: Recommendation to award ITB 24-19-MM Annual Drugs and Medications

Upon review of the bid submittals, we recommend the bid be awarded to the following vendors as the lowest and most responsive bidders:

Bound Tree Medical, LLC

Henry Schein, Inc.

Life-Assist, Inc.

Cc: Mandy Mullins, Procurement Agent I

## Alachua County, Florida

### Alachua County, Florida

### Procurement

Theodore "TJ" White, Jr. CPPB, Procurement Manager County Administration Building, Gainesville, FL 32601 (352) 374-5202

# EXECUTIVE SUMMARY ITB No. ITB 24-19-MM Annual Drugs and Medications

RESPONSE DEADLINE: May 31, 2023 at 2:00 pm

Monday, July 24, 2023

### SOLICITATION OVERVIEW

Project Title	Annual Drugs and Medications
Project ID	ITB 24-19-MM
Project Type	Invitation To Bid
Release Date	April 26, 2023
Due Date	May 31, 2023
Procurement Agent	Mandy Mullins
Project Description	Purpose: Alachua County is seeking to purchase Medical Supplies and Equipment for the Fire Rescue Services. The products to be ordered are described in the pricing proposal.

### INTRODUCTION

### **Summary**

Alachua County Board of County Commissioners are requesting the submission of Bids for ITB 24-19-MM Annual Drugs and Medications.

The following apply to this Invitation to Bid (ITB): <u>Introduction</u>, <u>Instruction to Bidders</u>, <u>Terms and Conditions</u>, <u>Insurance</u>, <u>Scope of Services</u>, <u>Sample Agreement</u>, <u>Attachments</u>, <u>Submittals</u>, and <u>ITB Pricing Form</u>. Specifications and supplementary documents are essential parts of the ITB and requirements occurring in one are as binding as though occurring in all.

Services, as defined herein, are to include all labor, materials, supplies and equipment in accordance with the terms, conditions, and specifications set forth within this solicitation.

Bidder must be qualified and fully capable of performing the required Services while adhering to all laws, specifications, procedures, protocols, applicable guidance, and industry best practices.

Purpose: Alachua County is seeking to purchase Medical Supplies and Equipment for the Fire Rescue Services. The products to be ordered are described in the pricing proposal.

### **Background**

**Location:** Alachua County is located in North Central Florida. The County government seat is situated in Gainesville. Gainesville is located 70 miles southwest of Jacksonville, 129 miles southeast of Tallahassee, 140 miles northeast of Tampa - St. Petersburg and 109 miles northwest of Orlando. Alachua County has a population of over 250,000 and a regional airport. The County itself consists of a total area of 969 square miles.

**Form of Government:** Alachua County is governed by a Board of five (5) elected County Commissioners and operates under the established County Manager Charter form of government. In addition to the five County Commissioners, there are five elected Constitutional Officers: Supervisor of Elections, Sheriff, Clerk of the Court, Tax Collector, and the Property Appraiser. The Alachua County Attorney also reports to the Board.

### **Contact Information**

### **Mandy Mullins**

Procurement Agent I

Email: <a href="mmmullins@alachuacounty.us">mmmullins@alachuacounty.us</a>

Phone: (352) 384-3090

**Department:** Fire Rescue

### <u>Timeline</u>

OpenGov Project Release Date	April 26, 2023
Question Submission Deadline	May 21, 2023, 12:01am
Solicitation Submission Deadline	May 31, 2023, 2:00pm

### Solicitation Opening – Zoom Meeting

May 31, 2023, 2:00pm
The scheduled solicitation opening will occur via Teams Meeting; the information to join is provided below.
Attendance (live viewing) of the bid opening is not required.

Join Microsoft Teams meeting Join on your computer, mobile app or room device:

https://teams.microsoft.com/l/meetup-join/19%3ameeting ZTQyYzk5YzMtZDc4 ZS00N2IxLTljMWUtMjAwNTQwN2NjNTN i%40thread.v2/0?context=%7b%22Tid% 22%3a%2290fc851d-766d-4d7b-a09c-bfbf1d2dac94%22%2c%22Oid%22%3a% 22c82ab8e7-6ee1-4cd5-9191-4aa322a1828f%22%7d

Meeting ID: 259 625 692 241

Passcode: yX9G3Q

Or call in (audio only)
+1 469-998-7938,,366862554# United States, Dallas

Phone Conference ID: 366 862 554#

If you have a disability and need an accommodation in order to participate, please contact the Alachua County ADA Coordinator at ADA@alachuacounty.us or Equal Opportunity Office at 352-374-5275 at least 7 business days prior to the event. If you are unable to notify the Office prior to the event, please inform an Alachua County employee that you need assistance. TDD/TTY users, please call 711 (Florida Relay Service)

### **SOLICITATION STATUS HISTORY**

Date	Changed To	Changed By
Apr 18, 2023 2:33 PM	Draft	Mandy Mullins
Apr 18, 2023 2:48 PM	Review	Mandy Mullins
Apr 20, 2023 7:33 AM	Final	Mandy Mullins
Apr 20, 2023 7:33 AM	Post Pending	Mandy Mullins
Apr 26, 2023 6:00 AM	Open	OpenGov Bot
May 31, 2023 2:00 PM	Pending	OpenGov Bot
May 31, 2023 2:19 PM	Evaluation	Mandy Mullins

### PROPOSALS RECEIVED

Status	Vendor	Contact Info	Submission Date
Submitted	Bound Tree Medical, LLC	Christopher Fyffe submitbids@boundtree.com (800) 533-0523	May 31, 2023 10:53 AM
Submitted	Henry Schein Inc Julia Strange emsbids@henryschein.com (631) 843-5500		May 31, 2023 10:27 AM
Submitted	Life-Assist Inc	Contracts Department quotes@life-assist.com (800) 824-6016	May 19, 2023 12:34 PM
No Bid	Network Craze	Michael Featherstone mfeatherstone@networkcraze.com	Apr 26, 2023 7:20 AM

### VENDOR QUESTIONNAIRE PASS/FAIL

Question Title	Bound Tree Medical, LLC	Henry Schein Inc	Life-Assist Inc	Network Craze
Submittal Confirmation	Pass	Pass	Pass	No Response
Corporate Resolution	on Pass Pass Pass		Pass	No Response
State Compliance	Pass	Pass	Pass	No Response
Public Record Trade Secret or Proprietary Confidential Business Information Exemption Request	Pass	Pass	Pass	No Response

Question Title	Bound Tree Medical, LLC	Henry Schein Inc	Life-Assist Inc	Network Craze
Public Record Trade Secret or Proprietary Confidential Business Information Exemption Request	Pass	Pass	Pass	No Response
Public Record Trade Secret or Proprietary Confidential Business Information Exemption Request	No Response	No Response	No Response	No Response
Alachua County Government Minimum Wage (GMW)	Pass	Pass	Pass	No Response
DRUG FREE WORKPLACE	Pass	Pass	Pass	No Response
Vendor Eligibility	Pass	Pass	Pass	No Response
Responsible Agent	Pass	Pass Pass		No Response
Number of years in this type of service?	Pass	Pass	Pass	No Response
How many employees "ON THE JOB" each week?	Pass	Pass	Pass	No Response
Number of employees "ON CALL" each week?	Pass	Pass	Pass	No Response
Do you currently hold any municipality contracts?	Pass		Pass	No Response
If you indicated yes to holding municipality contracts please list them below:	Pass	Pass	Pass	No Response
References	Pass	Pass	Pass	No Response
Are your employees screened by:	Pass	Pass	Pass	No Response
Cancelled or Termination			No Response	
Cancellation and Termination	No Response	Pass	Pass	No Response

Question Title	Bound Tree Medical, LLC	Henry Schein Inc	Life-Assist Inc	Network Craze
What constitutes your normal business days and working hours?	Pass	Pass	Pass	No Response
Describe below, the Bidder's operational plan for providing the Services to Alachua County.	Bidder's operational lan for providing the Services to Alachua		Pass	No Response
Did you review and complete all the required documents and attachments?	complete all the equired documents		Pass	No Response
Do you acknowledge all Addenda's) issued with this solicitation?	Addenda's) issued		Pass	No Response
Conflict of Interest	Pass	Pass	Pass	No Response

### **QUESTIONS AND ANSWERS**

### Approved, Unanswered Questions

### Approved, Answers Provided

### 1. Line Item Description

May 9, 2023 2:12 PM

Question: What are the NDC #s for the following items. Line 18 - EPINEPHRINE, 1:10,000, 1 MG/ 10ML, PRE-FILLED Line 22 - FENTANYL DRIP 50MCG/ML - 2500MCG Line 34 - MORPHINE SULFATE 10MG/ML - 10MG Line 49 - PROPOFOL 10mg/ml

May 9, 2023 2:12 PM

Answered by Mark Shelton: Line 18 - EPINEPHRINE, 1:10,000, 1 MG/ 10ML, PRE-FILLED / NDC # 0409-4933-01 and/or NDC # 76329-3318-1 Line 22 - FENTANYL DRIP 50MCG/ML - 2500MCG / NDC # 71266-5005-01 Line 34 — MORPHINE SULFATE 10MG/ML - 10MG / NDC # 00641612725 Line 49 - PROPOFOL 10mg/ml / NDC # 0409-4699-30

May 17, 2023 4:53 AM

#### 2. Line Item #26

May 11, 2023 9:04 AM

Question: Please confirm the correct size of the vial. It is listed as 110ML. Should this be 10ML?

May 11, 2023 9:04 AM

Answered by Mark Shelton: Please provide the line item you are referring to

May 17, 2023 4:53 AM

### 3. Pricing Structure

May 16, 2023 2:25 PM

**Question:** It is common in the pharmaceutical industry to price products for customers using a discount model based on projected utilization. Prices change daily due to the manufacturers supply chain and to allow customers to benefit from those changes, it is recommended a discount model be used to account for the fluctuating prices that are set by the manufacturers. Will Alachua County consider making a change to the pricing structure to take in account a discount model?

May 16, 2023 2:25 PM

**Answered by Mandy Mullins:** No, Alachua County is bidding out firm fix pricing; vendors must price all items according to term.

May 22, 2023 1:29 PM

### 4. Value

May 16, 2023 2:26 PM

**Question:** Is it possible for the county to share the estimated spend on pharmaceutical products for the previous 12 months?

May 16, 2023 2:26 PM

**Answered by Cheryl Ellis:** During FY22 (10/1/2021-9/30/2022), Alachua County spent \$136,679.20 on pharmaceutical products.

May 17, 2023 4:53 AM

### 5. Line #26

May 17, 2023 3:40 PM

**Question:** Line # 26- Please confirm the correct size of the vial. It is listed as 110ML. Should this be 10ML?

May 17, 2023 3:40 PM

Answered by Mark Shelton: Line # 26- the correct vial size for the Ketamine should be listed as 10 ML

May 22, 2023 10:58 AM

### **ADDENDA & NOTICES**

ADDENDA ISSUED:

#### Addendum #1

May 17, 2023 4:56 AM Updated ITB Pricing Form

Line 18 - EPINEPHRINE, 1:10,000, 1 MG/ 10ML, PRE-FILLED / NDC # 0409-4933-01 and/or NDC # 76329-3318-1

Line 22 - FENTANYL DRIP 50MCG/ML - 2500MCG / NDC # 71266-5005-01

Line 34 - MORPHINE SULFATE 10MG/ML - 10MG / NDC # 00641612725

Line 49 - PROPOFOL 10mg/ml / NDC # 0409-4699-30

Please use the <u>See What Changed</u> link to view all the changes made by this addendum.

#### Addendum #2

May 22, 2023 10:58 AM

Please use the <u>See What Changed</u> link to view all the changes made by this addendum.

updated pricing form to

Line # 26- the correct vial size for the Ketamine should be listed as 10 ML

#### ADDENDA ACKNOWLEDGEMENTS:

### Addendum #1

Proposal	Confirmed	Confirmed At	Confirmed By
Life-Assist Inc	X	May 17, 2023 4:41 PM	Contracts Department
Henry Schein Inc	X	May 23, 2023 12:06 PM	Julia Strange
Bound Tree Medical, LLC	Х	May 31, 2023 9:09 AM	Christopher Fyffe

### Addendum #2

Proposal	Confirmed	Confirmed At	Confirmed By
Life-Assist Inc	X	May 23, 2023 10:17 AM	Contracts Department
Henry Schein Inc	X	May 23, 2023 12:06 PM	Julia Strange
Bound Tree Medical, LLC	X	May 31, 2023 9:09 AM	Christopher Fyffe

NOTICES ISSUED:

No Notices issued.

### **EVALUATION**

### DRUGS & MEDICATIONS (Table 1 of 2)

Primary award cells are green and Backup award cells are gray

					Bound Tree I	Medical, LLC	Henry		y Schein Inc
Line Ite m	Description	Quantit y	Unit of Measur e	Unit Cost	Custom Packaging (e.g.,#BOX)	Brand/Part Number	Unit Cost	Custom Packaging (e.g.,#BOX	Brand/Part Number
1	ACETAMINOPHEN 500MG, 100/BOTTLE	1	EACH	\$0.12	sold by box, 50/bx, \$5.89/bx	Honeywell Safety Products/BTM #F233603	\$0.029	100/BTL \$2.90	New World Imports ACT50024/HS#1426481
2	ADENOCARD (ADENOSINE), 6 MG/ 2 ML VIAL	1	EACH	\$13.73	sold by pack, 10/pk, \$137.30/p k	Fresenius/BTM #0651-02	\$9.45	10/BX \$94.50	Mylan 67457085502/HS#1357662
3	ALBUTEROL SULFATE, 0.083% FOR INHALATION, 2.5 MG PRE-DILUTED IN 3 ML NORMAL SALINE	1	EACH	\$0.16	sold by box, 25/bx, \$4.00/bx	Nephron Pharmaceutical/BTM #9501-25	\$0.198	25/BX \$4.95	Nephron 00487950125/HS#1434079
4	AMIODARONE (CARDARONE) 50MG/ML, 3ML VIAL	1	EACH	\$2.50	sold by box, 25/bx, \$62.60/bx	Hikma Pharmaceutical/BTM #9875-20	\$1.75	25/BX \$43.75	Hikma 00143987525/HS#1380951
5	ASPRIN-CHEWABLE, 81 MG TABS	1	EACH	\$0.02	sold by bottle, 36/bt, \$0.70/bt	Geri-Care/BTM #911316	\$0.025	36/BTL \$.90	New World Imports CCA36/HS#1381092
6	ATROPEN (ATROPINE) 0.5 MG, AUTO-INJECTOR	1	EACH	\$29.41	sold by case, 12/cs, \$352.95/cs	Meridian Medical Tech/BTM #379085	\$0.00		NO BID
7	ATROPEN (ATROPINE) 1 MG, AUTO-INJECTOR	1	EACH	\$0.00	NO BID		\$0.00		NO BID
8	ATROPEN (ATROPINE) 2 MG, AUTO-INJECTOR	1	EACH	\$0.00	NO BID		\$0.00		NO BID
9	ATROPINE SULFATE, 1 MG/10ML, PRE-FILLED	1	EACH	\$12.01	sold by pack, 10/pk, \$120.10/p k	IMS Limited/BTM #371006	\$10.95	10/BX \$109.50	Pfizer 004099163010/HS#258009 1

					Bound Tree Medical, LLC			Henry Schein Inc			
Line Ite m	Description	Quantit Y	Unit of Measur e	Unit Cost	Custom Packaging (e.g.,#BOX)	Brand/Part Number	Unit Cost	Custom Packaging (e.g.,#BOX )	Brand/Part Number		
10	ATROVENT (IPRATROPIUM), .02% INHALATION SOLUTION, 2.5 ML	1	EACH	\$0.16	sold by box, 30/bx, \$4.80/bx	Nephron Pharmaceutical/BTM #9801-30	\$0.192	25/PK \$4.80	Nephron 00487980125/HS#1162118		
11	BENADRYL (DIPHENHYDRAMINE HCL), 50 MG/ 1 ML VIAL	1	EACH	\$0.99	sold by box, 25/bx, \$24.63/bx	Armas Pharmaceuticals, Inc/BTM #101-25	\$1.03	25/BX \$25.75	Hikma 00641037625/HS#3759452		
12	CALCIUM CHLORIDE, 10%, 1 GM/10 ML, PRE- FILLED	1	EACH	\$12.30	sold by box, 10/bx, \$123.00/bx	IMS Limited/BTM #373304	\$13.53	10/BX \$135.30	Pfizer 00409163110/HS#1046889		
13	CALCIUM GLUCONATE 10% SDPF	1	EACH	\$12.31	sold by pack, 10/pk, \$307.69/p k	Other Manufacturer/BTM #360-19	\$13.57	25/BX \$339.25	Nivagen 75834017119/HS#1436174		
14	CARDIZEM (DILTAZEM HCL), 100mg ADD- VANTAGE VIAL NDC #0409-4350-03 No Refrigeration needed	1	EACH	\$12.13	sold by box, 10/bx, \$121.25/bx	Pfizer, Inc/ BTM #0409-4350-03	\$14.09	10/PK \$140.90	Pfizer 00409435003/HS#1088625		
15	CYANOKIT 5g (HYDROXOCOBALAMIN) 2.5 GRAMS PER VIAL FOR INJECTION, REQUIRES 100 ML 0.9% SODIUM CHLORIDE SOLUTIONPER VIAL	1	EACH	\$1,157.6 6	sold by each	BTG Internation, Inc/BTM #0310-11	\$1,230.6 7	EA	BTG International 5063331011/HS#1423286		
16	DEXTROSE 10% in Water, 250ML BAG	1	EACH	\$2.70	sold by each, 24/cs	B.Braun Medical, Inc/BTM #7520-20	\$3.04	EA	B Braun L5202/HS#5073334		
17	EPINEPHRINE (ADRENALIN), 1:1,000, 1 MG/ 1ML	1	EACH	\$17.89	sold by pack, 25/pk, \$447.25/p k	Cardinal Health- Pharma/BTM #0159- 25ea	\$15.56	10/BX \$155.60	BPI Labs 54288010310/HS#1289991		
18	EPINEPHRINE, 1:10,000, 1 MG/ 10ML, PRE-FILLED NDC # 0409-4933-01 and/or NDC # 76329- 3318-1	1	EACH	\$8.76	sold by box, 10/bx, \$87.60/bx	Pfizer, Inc/BTM #374921	\$13.51	10/BX \$135.10	IMS 76329331801/HS#1435799		
19	EPI-PEN AUTO INJECTOR, ADULT DOSE, 0.3 MG INJECTOR	1	EACH	\$149.25	sold by pack, 2/pk, \$298.50/p k	Kaleo/BTM #5833-02	\$141.77	2/PK \$283.54	Amneal 00115169449/HS#1279954		

					Bound Tree Medical, LLC			Henry Schein Inc		
Line Ite m	Description	Quantit y	Unit of Measur e	Unit Cost	Custom Packaging (e.g.,#BOX)	Brand/Part Number	Unit Cost	Custom Packaging (e.g.,#BOX )	Brand/Part Number	
20	ETOMIDATE 2mg/ml SDV	1	EACH	\$6.82	sold by box, 10/bx, \$68.20/bx	Pfizer, Inc/BTM #6695-01	\$5.74	10/BX \$57.40	Fresenius 65219044720/HS#1423080	
21	FENTANYL 50MCG/ML - 100MCG	1	EACH	\$1.70	sold by box, 25/bx, \$42.50/bx	Pfizer, Inc/BTM #379094	\$2.40	25/BX \$62.00	Pfizer 00409909422/HS#1046538	
22	FENTANYL DRIP 50MCG/ML - 2500MCG NDC # 71266-5005-01	1	EACH	\$0.00	NO BID		\$3.53	25/BX \$88.25	Pfizer 00409909425/HS#1046541	
23	GLUCAGEN Diagnostic Kit 1 UNIT, 1 MG VIAL	1	EACH	\$348.20	sold by each	Cardinal Health- Pharma/BTM #7065- 15	\$225.32	EA	Fresenius 63323059303/HS#1249546	
24	HALDOL (HALOPERIDOL) 5 MG/ML, 1 ML VIAL	1	EACH	\$1.11	sold by box, 25/bx, \$27.70/bx	Capital Wholesale Drug/BTM #0426-12	\$1.12	25/BX \$28.00	Mylan 67457042612/HS#1219860	
25	HYDROGEN PEROXIDE 3% 32oz	1	EACH	\$2.89	sold by each, 12/cs	Medique Products/BTM #25711	\$0.00		NO BID	
26	KETAMINE 50MG/ML - 10ML MDV	1	EACH	\$7.94	sold by box, 10/bx, \$79.40/bx	Hikma Pharmaceutical/BTM #9508-10	\$8.20	10/BX \$82.00	HIkma 00143950810/HS#1400330	
27	LABETALOL, HCL, (TRANDATE), 100 MG VIAL, 5 MG/ML	1	EACH	\$4.36	sold by each	Pfizer, Inc/BTM #2267-20	\$3.48	EA	Baxter 3600032202/HS#1406893	
28	LIDOCAINE HCL, 2%, 100 MG/ 5 ML, PRE-FILLED ANSYR SYRINGE	1	EACH	\$5.56	sold by box, 10/bx, \$55.60/bx	Pfizer, Inc/BTM #007449301	\$6.15	10/BX \$61.50	Pfizer 00409132305/HS#1046865	
29	LOREZAPAM (ATIVAN) 2MG/ML - 2MG	1	EACH	\$1.46	sold by box, 25/bx, \$36.40/bx	Hikma Pharmaceutical/BTM #6044-25	\$2.30	10/BX \$23.00	Pfizer 00409677802/HS#1277871	
30	MAGNESIUM SULFATE, INJECTION, 50% 5 GM/ 10 ML, VIAL	1	EACH	\$2.72	sold by box, 25/bx, \$67.87/bx	Other Manufacturer/BTM #064-11	\$2.53	25/BX\$ 63.25	Fresenius 63323006411/HS#1314652	
31	METOPROLOL TARTRATE 1MG/ML 10X5ML VIAL	1	EACH	\$1.84	sold by box, 10/bx, \$18.40/bx	Other Manufacturer/BTM #660-05	\$1.20	10/BX \$12.00	Pfizer 00409177805/HS#1417650	
32	MIDAZOLAM (VERSED 1MG/ML - 5MG	1	EACH	\$1.23	sold by box, 10/bx, \$12.30/bx	Pfizer, Inc/BTM #2305-05	\$1.56	10/BX \$15.60	Pfizer 00409230505/HS#1277882	

					Bound Tree N	Medical, LLC	Henry Schein I		y Schein Inc
Line Ite m	Description	Quantit y	Unit of Measur e	Unit Cost	Custom Packaging (e.g.,#BOX)	Brand/Part Number	Unit Cost	Custom Packaging (e.g.,#BOX	Brand/Part Number
33	MIDAZOLAM (VERSED 5MG/ML - 5MG	1	EACH	\$1.25	sold by box, 10/bx, \$12.45/bx	Pfizer, Inc/BTM #2308-01	\$1.53	10/BX \$15.30	Pfizer 00409230801/HS#1277867
34	MORPHINE SULFATE 10MG/ML - 10MG NDC # 00641612725	1	EACH	\$2.83	sold by box, 25/bx, \$70.85/bx	Hikma Pharmaceutical/BTM #6127-25	\$3.09	25/BX \$77.25	Hikma 00641612725/HS#1338023
35	NARCAN (NALOXONE HCL), 1MG/ML 2ML LUER JET PRE-FILLED SYRINGE	1	EACH	\$12.52	sold by case, 10/cs, \$125.20/cs	IMS Limited/BTM #373369	\$16.14	10/BX \$161.40	IMS 76329336901/HS#1182155
36	NICARDIPINE HCL 2mg/ml SDV	1	EACH	\$18.36	sold by box, 10/bx, \$183.60/bx	Cardinal Health- Pharma/BTM #0183- 10	\$0.00		NO BID
37	NITROGLYCERINE OINTMENT, 2%, 30 GM/TUBE	1	EACH	\$41.89	sold by each	Cardinal Health- Pharma/BTM #373830	\$45.88	EA	Sandoz 00281032630/HS#1910001
38	NITROGLYCERINE SPRAY, METERED 400 MCG PER SPRAY, 200 DOSES	1	EACH	\$150.20	sold by each	Allegis Pharmaceuticals/BT M #0120-12	\$203.53	EA	Allegis 28595012012/HS#1391978
39	NORMAL SALINE (0.9% SODIUM CHLORIDE) SYRINGE- 10CC PRE- FILLED WITH LUER LOCK TIP	1	EACH	\$0.37	sold by each, 30/bx, 8bx/cs	Amsino International/BTM #1920-01010	\$0.326	100/BX \$32.60	Aquabiliti 2T0806/HS#7000698
40	NORMAL SALINE, (0.9% SODIUM CHLORIDE), 50 ML IV BAG	1	EACH	\$2.20	sold by each, 96/cs	Baxter Healthcare- DMG/BTM #601306	\$2.71	EA	B Braun S8004- 5384/HS#5074046
41	NORMAL SALINE , (0.9% SODIUM CHLORIDE), 50ML ADD-VANTAGE DILUENT	1	EACH	\$2.42	sold by pack, 5/pk, \$12.10/pk	Pfizer, Inc/BTM #0409-7101-66	\$2.75	50/BX \$137.50	Pfizer 00409710166/HS#1400310
42	NORMAL SALINE, (0.9% SODIUM CHLORIDE), 100 ML IV BAG	1	EACH	\$2.04	sold by pack, 16/pk, \$32.60/pk	Baxter Healthcare- DMG/BTM #0049-38	\$2.71	EA	B Braun S8004- 5264/HS#5072187
43	NORMAL SALINE, (0.9% SODIUM CHLORIDE), 1000 ML IV BAG	1	EACH	\$2.97	sold by each, 12/cs	B.Braun Medical, Inc/BTM #7800-09	\$3.38	EA	B Braun L8000/HS#1002808
44	NORMAL SALINE, (0.9% SODIUM CHLORIDE), 250 ML IV BAG	1	EACH	\$2.91	sold by each, 24/cs	B.Braun Medical, Inc/BTM #358002	\$3.31	EA	B Braun L8002/HS#5078002

					Bound Tree N	Medical, LLC		Henry Schein Inc			
Line Ite m	Description	Quantit y	Unit of Measur e	Unit Cost	Custom Packaging (e.g.,#BOX)	Brand/Part Number	Unit Cost	Custom Packaging (e.g.,#BOX	Brand/Part Number		
45	ONDANSETRON (ZOFRAN) 4MG DISSOLVE TABS	1	EACH	\$0.15	sold by box, 30/bx, \$4.52/bx	Other Manufacturer/BTM #0390-10	\$0.075	30/BX \$2.25	Glenmark 02- 18670/HS#1432287		
46	ONDANSETRON (ZOFRAN) 4MG 2ML VIAL	1	EACH	\$0.32	sold by box, 25/bx, \$7.91/bx	Cardinal Health- Pharma/BTM #6130- 05	\$0.45	25/BX \$11.25	Apoptex 60505613005/HS#1259100		
47	ORAL GLUCOSE (INSTA- GLUCOSE) 37.5 GM SQUEEZE TUBE	1	EACH	\$1.26	sold by pack, 15/pk, \$18.90/pk	Life Nutrition, LLC/BTM #664389	\$1.46	3/PK \$4.38	Transcend 6739/HS#1246672		
48	PHENERGAN (PROMETHAZINE) 25MG 25MG/1ML	1	EACH	\$1.70	sold by box, 25/bx, \$42.60/bx	Other Manufacturer/BTM #5525-03	\$2.93	25/BX \$73.25	Hikma 00641092825/HS#1027248		
49	PROPOFOL 10mg/ml NDC # 0409-4699-30	1	EACH	\$2.38	sold by box, 5/bx, \$11.90/bx	Pfizer, Inc/BTM #4699-30	\$0.00		NO BID		
50	SODIUM BICARBONATE (4.2%) PEDIATRIC, 5 MEQ / 10 ML, PRE- FILLED WITH LUER LOCK OR LUER LOCK ADAPTER SYRINGE	1	EACH	\$18.37	sold by box, 10/bx, \$183.60/bx	Pfizer, Inc/BTM #0074553401	\$21.14	10/BX \$211.40	Pfizer 00409553414/HS#1387977		
51	SODIUM BICARBONATE (8.4%), 50 MEQ / 50 ML VIAL	1	EACH	\$11.07	sold by box, 25/bx, \$276.84/bx	Pfizer, Inc/BTM #376625	\$10.12	25/BX \$253.00	Fresenius 63323008950/HS#1400378		
52	SODIUM BICARBONATE (8.4%), 50 MEQ / 50 ML, PRE-FILLED WITH LUER LOCK OR LUER LOCK ADAPTER SYRINGE	1	EACH	\$18.65	sold by pack, 10/pk, \$186.50/p k	IMS Limited/BTM #371035	\$23.84	10/BX \$238.40	Pfizer 00409663714/HS#1402632		
53	SOLU-MEDROL (METHYLPREDNISOLONE ) FOR INJECTION, 125 MG VIAL OF LYOPHILIZED POWDER WITH VIAL OF DILUENT, 2ML ACT- OVIAL	1	EACH	\$9.64	sold by box, 25/bx, \$241.00/bx	Pfizer, Inc/BTM #0409-0047-22	\$11.25	25/BX \$281.25	Pfizer 00009004722/HS\$3820015		
54	STERILE WATER FOR IRRIGATION , 1000 ml Bottle	1	EACH	\$2.70	sold by each, 16/cs	B.Braun Medical, Inc/BTM #G0912	\$3.09	EA	B Braun R5000- 01/HS#5075000		
55	STERILE WATER, 5 ML VIAL	1	EACH	\$0.00	NO BID		\$0.13	100/BX \$13.00	Medline 200- 51/HS#1411715		

					Bound Tree N	Medical, LLC		Henr	y Schein Inc
Line Ite m	Description	Quantit Y	Unit of Measur e	Unit Cost	Custom Packaging (e.g.,#BOX)	Brand/Part Number	Unit Cost	Custom Packaging (e.g.,#BOX )	Brand/Part Number
56	SUCCINYLCHOLINE CHLORIDE (ANECTINE ) 20mg/ml MDV	1	EACH	\$23.21	sold by box, 25/bx, \$580.30/bx	Pfizer, Inc/BTM #375204	\$3.88	25/BX \$97.00	Camber Pharmaceuiticals 31722098131/HS#1417627
57	TORADOL (KETOROLAC), 30 MG	1	EACH	\$1.08	sold by box, 25/bx, \$27.10/bx	Cardinal Health- Pharma/BTM #0722- 25	\$1.23	25/BX \$30.75	Almaject 72611072225/HS#1404657
58	VECURONIUM BROMIDE 10MG PWVL	1	EACH	\$8.83	sold by box, 10/bx, \$88.30/bx	Pfizer, Inc/BTM #1632-01	\$3.55	10/BX \$35.50	Auromedics 55150023510/HS#1357642
59	XYLOCAINE JELLY, 2%, 100 MG, 20 MG/ML, 5 ML UNIT DOSE	1	EACH	\$6.25	sold by box, 25/bx, \$156.15/bx	IMS Limited/BTM #301200	\$7.15	25/PK \$178.75	IMS 76329301205/HS#1182153

### DRUGS & MEDICATIONS (Table 2 of 2)

Primary award cells are green and Backup award cells are gray

					Life-Assist Inc	
Line Item	Description	Quantity	Unit of Measure	Unit Cost	Custom Packaging (e.g.,#BOX)	Brand/Part Number
1	ACETAMINOPHEN 500MG, 100/BOTTLE	1	EACH	\$2.50	Bottle-100	Major Pharma / CHI_20101
2	ADENOCARD (ADENOSINE), 6 MG/ 2 ML VIAL	1	EACH	\$7.30	Box-10 vials / \$73.00	Mylan / DR0855- 02
3	ALBUTEROL SULFATE, 0.083% FOR INHALATION, 2.5 MG PRE-DILUTED IN 3 ML NORMAL SALINE	1	EACH	\$0.12	Box-25 vials / \$3.00	Ritedose / DR0200-25
4	AMIODARONE (CARDARONE) 50MG/ML, 3ML VIAL	1	EACH	\$0.90	Each-1	Hikma / DR9875- 25
5	ASPRIN-CHEWABLE, 81 MG TABS	1	EACH	\$0.88	Each-1	Geri Care Pharma / MD150
6	ATROPEN (ATROPINE) 0.5 MG, AUTO-INJECTOR	1	EACH	No Bid	N/A	N/A
7	ATROPEN (ATROPINE) 1 MG, AUTO-INJECTOR	1	EACH	\$8.55	Box-10 syringes / \$85.50	Accord / DR0484- 45
8	ATROPEN (ATROPINE) 2 MG, AUTO-INJECTOR	1	EACH	No Bid	N/A	N/A

				Life-Assist Inc				
Line Item	Description	Quantity	Unit of Measure	Unit Cost	Custom Packaging (e.g.,#BOX)	Brand/Part Number		
9	ATROPINE SULFATE, 1 MG/10ML, PRE-FILLED	1	EACH	\$11.50	Each-1	IMS / DR3340-00		
10	ATROVENT (IPRATROPIUM), .02% INHALATION SOLUTION, 2.5 ML	1	EACH	\$0.20	Box-25 vials / \$5.00	Nephron Pharma / DR9801-25		
11	BENADRYL (DIPHENHYDRAMINE HCL), 50 MG/ 1 ML VIAL	1	EACH	\$1.50	Each-1	Hikma / DR0376- 25		
12	CALCIUM CHLORIDE, 10%, 1 GM/10 ML, PRE- FILLED	1	EACH	\$11.25	Each-1	IMS / DR3304-00		
13	CALCIUM GLUCONATE 10% SDPF	1	EACH	\$12.75	Each-1	APP Pharma / CHI_DR0360-19		
14	CARDIZEM (DILTAZEM HCL), 100mg ADD- VANTAGE VIAL NDC #0409-4350-03 No Refrigeration needed	1	EACH	\$11.55	Box-10 vials / \$115.50	Hospiria / HOSP_DR4350-03		
15	CYANOKIT 5g (HYDROXOCOBALAMIN) 2.5 GRAMS PER VIAL FOR INJECTION, REQUIRES 100 ML 0.9% SODIUM CHLORIDE SOLUTIONPER VIAL	1	EACH	\$1,045.00	Each-1	BTG Specialty Pharm / DR310-11		
16	DEXTROSE 10% in Water, 250ML BAG	1	EACH	\$3.00	Each-1	B. Braun / SL5202		
17	EPINEPHRINE (ADRENALIN), 1:1,000, 1 MG/ 1ML	1	EACH	\$18.90	Each-1	Par Pharma / DR0159-25		
18	EPINEPHRINE, 1:10,000, 1 MG/ 10ML, PRE-FILLED NDC # 0409-4933-01 and/or NDC # 76329- 3318-1	1	EACH	\$8.00	Box-10 syringes / \$80.00	Hospira / DR4933- 01		
19	EPI-PEN AUTO INJECTOR, ADULT DOSE, 0.3 MG INJECTOR	1	EACH	\$350.00	Each-1	Mylan / DR2102- 02		
20	ETOMIDATE 2mg/ml SDV	1	EACH	\$4.00	Each-1	Hikma / DR9506- 10		

					Life-Assist Inc		
Line Item	Description	Quantity	Unit of Measure	Unit Cost	Custom Packaging (e.g.,#BOX)	Brand/Part Number	
21	FENTANYL 50MCG/ML - 100MCG	1	EACH	\$3.12	Box-25 vials / \$78.00	Hospira / DR9094 22	
22	FENTANYL DRIP 50MCG/ML - 2500MCG NDC # 71266-5005-01	1	EACH	No Bid	N/A	N/A	
23	GLUCAGEN Diagnostic Kit 1 UNIT, 1 MG VIAL	1	EACH	\$220.00	Each-1	Amphastar Pharma / DR5850 00	
24	HALDOL (HALOPERIDOL) 5 MG/ML, 1 ML VIAL	1	EACH	\$2.50	Each-1	Sagent Pharma / DR0806-01	
25	HYDROGEN PEROXIDE 3% 32oz	1	EACH	\$7.34	Case-9 / \$66.00	HCH / AL30828	
26	KETAMINE 50MG/ML - 10ML MDV	1	EACH	\$8.30	Box-10 vials / \$83.00	Hikma / DR9508 10	
27	LABETALOL, HCL, (TRANDATE), 100 MG VIAL, 5 MG/ML	1	EACH	\$2.60	Each-1	Baxter / DR0322 02	
28	LIDOCAINE HCL, 2%, 100 MG/ 5 ML, PRE-FILLED ANSYR SYRINGE	1	EACH	\$5.30	Box-10 syringes / \$53.00	Hospira / DR1323 01	
29	LOREZAPAM (ATIVAN) 2MG/ML - 2MG	1	EACH	\$1.56	Box-25 vials / \$39.00	Hikma / DR6044 26	
30	MAGNESIUM SULFATE, INJECTION, 50% 5 GM/ 10 ML, VIAL	1	EACH	\$6.25	Each-1	Exela Pharma / DR1000-04	
31	METOPROLOL TARTRATE 1MG/ML 10X5ML VIAL	1	EACH	\$1.25	Each-1	Baxter / DR0033	
32	MIDAZOLAM (VERSED 1MG/ML - 5MG	1	EACH	\$3.80	Box-10 vials / \$38.00	Hospira/ DR2305 05	
33	MIDAZOLAM (VERSED 5MG/ML - 5MG	1	EACH	\$2.40	Box-10 vials / \$24.00	Hospira / SAS_DR2308-01	
34	MORPHINE SULFATE 10MG/ML - 10MG NDC # 00641612725	1	EACH	\$3.56	Box-25 vials / \$89.00	Hikma / DR6127 25	
35	NARCAN (NALOXONE HCL), 1MG/ML 2ML LUER JET PRE-FILLED SYRINGE	1	EACH	\$11.10	Box-10 syringes / \$111.00	Hikma / DR6205 10	

				Life-Assist Inc				
Line Item	Description	Quantity	Unit of Measure	Unit Cost	Custom Packaging (e.g.,#BOX)	Brand/Part Number		
36	NICARDIPINE HCL 2mg/ml SDV	1	EACH	\$27.60	Box-10 vials / \$276.00	Hikma / CHI_DR9689-10		
37	NITROGLYCERINE OINTMENT, 2%, 30 GM/TUBE	1	EACH	\$42.60	Each-1	Savage Lab / DR0326-30		
38	NITROGLYCERINE SPRAY, METERED 400 MCG PER SPRAY, 200 DOSES	1	EACH	\$230.50	Each-1	Perrigo / DR0210 02		
39	NORMAL SALINE (0.9% SODIUM CHLORIDE) SYRINGE- 10CC PRE- FILLED WITH LUER LOCK TIP	1	EACH	\$0.34	Box-30 syringes / \$10.00	Amsino / DR1010		
40	NORMAL SALINE, (0.9% SODIUM CHLORIDE), 50 ML IV BAG	1	EACH	\$1.88	Pack-4 bags / \$7.50	ICU Medical / SL7984-36		
41	NORMAL SALINE , (0.9% SODIUM CHLORIDE), 50ML ADD-VANTAGE DILUENT	1	EACH	\$2.91	Pack-5 bags / \$14.55	Hospira / SL7101 67		
42	NORMAL SALINE, (0.9% SODIUM CHLORIDE), 100 ML IV BAG	1	EACH	\$2.75	Each-1	Baxter / SL1307		
43	NORMAL SALINE, (0.9% SODIUM CHLORIDE), 1000 ML IV BAG	1	EACH	\$3.25	Each-1	B. Braun / SL7800 09		
44	NORMAL SALINE, (0.9% SODIUM CHLORIDE), 250 ML IV BAG	1	EACH	\$4.00	Each-1	Baxter / SL1322		
45	ONDANSETRON (ZOFRAN) 4MG DISSOLVE TABS	1	EACH	\$0.24	Pack-30 tabs / \$7.00	Glenmark Pharm / DR2157-13		
46	ONDANSETRON (ZOFRAN) 4MG 2ML VIAL	1	EACH	\$0.75	Each-1	Baxter / DR0012 25		
47	ORAL GLUCOSE (INSTA- GLUCOSE) 37.5 GM SQUEEZE TUBE	1	EACH	\$2.67	Pack-3 / \$8.00	Microdot / MD30		
48	PHENERGAN (PROMETHAZINE) 25MG 25MG/1ML	1	EACH	\$3.92	Box-25 vials / \$98.00	Hikma / CHI_DR6084-25		

			Life-Assist Inc				
Line Item	Description	Quantity	Unit of Measure	Unit Cost	Custom Packaging (e.g.,#BOX)	Brand/Part Number	
49	PROPOFOL 10mg/ml NDC # 0409-4699-30	1	EACH	No Bid	N/A	N/A	
50	SODIUM BICARBONATE (4.2%) PEDIATRIC, 5 MEQ / 10 ML, PRE-FILLED WITH LUER LOCK OR LUER LOCK ADAPTER SYRINGE	1	EACH	\$17.00	Box-10 syringes / \$170.00	Hospira / DR5534- 34	
51	SODIUM BICARBONATE (8.4%), 50 MEQ / 50 ML VIAL	1	EACH	\$8.50	Each-1	Exela Pharma / DR5001-04	
52	SODIUM BICARBONATE (8.4%), 50 MEQ / 50 ML, PRE-FILLED WITH LUER LOCK OR LUER LOCK ADAPTER SYRINGE	1	EACH	\$17.00	Each-1	IMS / DR3352-00	
53	SOLU-MEDROL (METHYLPREDNISOLONE) FOR INJECTION, 125 MG VIAL OF LYOPHILIZED POWDER WITH VIAL OF DILUENT, 2ML ACT- OVIAL	1	EACH	\$10.25	Each-1	Pharmacia & Upjohn / DR0047- 22	
54	STERILE WATER FOR IRRIGATION , 1000 ml Bottle	1	EACH	\$3.50	Each-1	B. Braun / SL5000	
55	STERILE WATER, 5 ML VIAL	1	EACH	\$2.56	Case-1000 / \$257.00	Amsino / OM70055	
56	SUCCINYLCHOLINE CHLORIDE (ANECTINE ) 20mg/ml MDV	1	EACH	\$6.00	Each-1	Hikma / DR9338- 25	
57	TORADOL (KETOROLAC), 30 MG	1	EACH	\$6.68	Box-25 vials / \$167.00	Hospira / DR3795- 01	
58	VECURONIUM BROMIDE 10MG PWVL	1	EACH	\$5.00	Box-10 vials / \$50.00	Hikma / DR9234- 10	
59	XYLOCAINE JELLY, 2%, 100 MG, 20 MG/ML, 5 ML UNIT DOSE	1	EACH	\$7.50	Each-1	IMS / DR3012-00	

### ITA 24-19 Annual Drugs and Medications

Final Audit Report 2023-07-27

Created: 2023-07-24

By: Mandy Mullins (mmmullins@alachuacounty.us)

Status: Signed

Transaction ID: CBJCHBCAABAAGIggFgfd0fKxi6h0mJDyJIOa\_dy0tEHg

### "ITA 24-19 Annual Drugs and Medications" History

- Document created by Mandy Mullins (mmmullins@alachuacounty.us) 2023-07-24 6:49:28 PM GMT- IP address: 163.120.80.11
- Document emailed to Darryl Kight (dkight@AlachuaCounty.US) for signature 2023-07-24 6:52:46 PM GMT
- Email viewed by Darryl Kight (dkight@AlachuaCounty.US)
- Document e-signed by Darryl Kight (dkight@AlachuaCounty.US)

  Signature Date: 2023-07-24 8:17:23 PM GMT Time Source: server- IP address: 163.120.80.69
- Document emailed to TJ White (twhite@alachuacounty.us) for signature 2023-07-24 8:17:25 PM GMT
- Email viewed by TJ White (twhite@alachuacounty.us) 2023-07-27 1:37:37 PM GMT- IP address: 149.19.43.13
- Document e-signed by TJ White (twhite@alachuacounty.us)

  Signature Date: 2023-07-27 1:43:40 PM GMT Time Source: server- IP address: 149.19.43.13
- Agreement completed. 2023-07-27 - 1:43:40 PM GMT